ITx1=1

2 x1=2
3x1=3
4 x1=4
Ox1=0
ox1=06
/ x 1=/
8x1=28
9x1=9
10 x1=10
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1x2=2
2x2=4
3Xx2=0
4 x2-=28
oOx2=10
o x 2 =12
/ x2=14
8x2=1o
9x2-=18
10 x 2 = 20
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Tx3=3
2x3=0
3x3=9
4 x 3 =12
Ox3=1
6 x3=18
/ X 3 =2
8 x 3 =24
9x 3 =2/
10 x 3 = 30
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1x 4 =4

2x4-=28
3 x4 =12
4 x4 =16
O x 4 =20
o x 4 =24
/ x4 =28
8 x 4 = 32
9 x 4 =306
10 x 4 = 40
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\_

%
1x0=0
2 x90=10
3xO0=1
4 x 0 =20
O X O =20
6 x O =30
/ X O =30
8 x 0 =40

9 x 90 =45
10 x O = 20
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2 x 6=12
3 x06=18

DO x 6 =30
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I1x /=7

2x/ =14
3 x /=21
4 x / =28
O x / =30
o x / =42
/ x / =49
8 x / = 00
9x /=063
10 x /=70
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2x8-=1o
3 x 8 =24
4 x 8 = 32
O x 8 =40

9 x8=/2
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1x9=9
2x9=18
3x9 =2/
4 x9 =36
O x 9 =40
o x9 =204
/ x 9 =063
8 x9=/2
9 x 9 = 8
10 x 9 = 90
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10
1x 10 =10
2 x 10 = 20
3 x 10 = 30
4 x 10 = 40
O x 10 = 90
o x 10 = 60
/ x 10 = /70
8 x 10 = 80

9 x 10 = 90
10 x 10 = 100
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TxMN="T

2 x 1 =22
3x1=33
4 x 11 =44
O x 11 =95
6 x 11 = 66
/ x N =77
8 x 11 = 88

9 x 1 =99

10 x 11 =10
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12%

1x 12 =12

2 x 12 =24
3 x 12 = 36
4 x 12 = 48
O x 12 = 60
o x 12 =172
/ x 12 = 84
8 x 12 = 906
9 x 12 = 108

10 x 12 = 120
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